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телеко<<у=8к4F8о==о9 Eет8 "�=теD=ет". 
 

4. �D87=4тL утD4т86H8< E8лу поEт4=о6ле=8е <MD88 7оDод4 /DоEл46лO от 06.10.2023 N 1101 "О 
пDо6еде=88 ко=куDE4 "�<еEте Eдел4е< луGHе". 
 

5. Ко=тDолL 74 8Eпол=е=8е< поEт4=о6ле=8O 6о7ло68тL =4 74<еEт8телO <MD4 7оDод4 /DоEл46лO 
по 6опDоE4< 68л8I=о-ко<<у=4лL=о7о Eо7O9Eт64 8 5л47оуEтDо9Eт64. 
 

6. �оEт4=о6ле=8е 6Eтуп4ет 6 E8лу Eо д=O, EледуNIе7о 74 д=е< е7о оD8F84лL=о7о 
опу5л8ко64=8O. 
 

�MD 

7оDод4 /DоEл46лO 

�.�.�ОЛ'��О� 

 

 

 

 

 

�D8ло6е=8е 1 

к поEт4=о6ле=8N 

<MD88 7оDод4 /DоEл46лO 

от 11.09.2024 N 815 

 

�ОЛОЖ���� 
О КО�К' !� "���!&� !��Л��� Л''(�" 

 

https://www.consultant.ru/
https://login.consultant.ru/link/?req=doc&base=LAW&n=471024
https://login.consultant.ru/link/?req=doc&base=RLAW086&n=149969&dst=100012
https://login.consultant.ru/link/?req=doc&base=RLAW086&n=143883


1. О5щ8е поло6е=8я, цел8 8 74д4ч8 ко=куDE4 
 

1.1. �оло6е=8е о ко=куDEе "�<еEте Eдел4е< луGHе" (д4лее - �оло6е=8е) опDеделOет поDOдок 
8 уEло68O пDо6еде=8O ко=куDE4 "�<еEте Eдел4е< луGHе" (д4лее - Ко=куDE). 

1.2. ОD74=874тоDо< Ко=куDE4 6KEтуп4ет <MD8O 7оDод4 /DоEл46лO. 

ОD74=874F8о==ое о5еEпеGе=8е Ко=куDE4 оEуIеEт6лOет деп4Dт4<е=т 7оDодEко7о Eо7O9Eт64 
<MD88 7оDод4 /DоEл46лO (д4лее - деп4Dт4<е=т). 

1.3. Цел8 8 74д4G8 Ко=куDE4. 

ЦелO<8 Ко=куDE4 O6лONтEO: 

- по6KHе=8е уDо6=O 5л47оуEтDо9Eт64 теDD8тоD88 7оDод4 /DоEл46лO, удо6лет6оDе==оEт8 
7D46д4= уEло68O<8 пDо6864=8O; 

- по6KHе=8е 4кт86=оEт8 Eо5Eт6е==8ко6 68лKE по<еIе=89 6 пDо6еде=88 <еDопD8Oт89 по 
EоED4=е=8N 8 EодеD64=8N о5Iе7о 8<уIеEт64 6 <=о7ок64Dт8D=о< до<е. 

�4д4Gе9 Ко=куDE4 O6лOетEO о5о5Iе=8е 8 D4EпDоEтD4=е=8е опKт4 D45отK 8=8F84т86=KE 
68теле9 7оDод4 /DоEл46лO по 5л47оуEтDо9Eт6у теDD8тоD89, EодеD64=8N о5Iе7о 8<уIеEт64 
<=о7ок64Dт8D=KE до<о6. 
 

2. �оDядок пDо6еде=8я Ко=куDE4 
 

2.1. Ко=куDE пDо6од8тEO по тDе< =о<8=4F8O<: 

"!4<K9 дDу6=K9 до<" - оFе=864NтEO 74O6к8, оп8EK64NI8е E8ту4F8N о Eо6<еEт=о 
пDо6еде==KE 68телO<8 <=о7ок64Dт8D=о7о до<4 <еDопD8Oт8OE, по76ол86H8E DеH8тL о5IуN 
пDо5ле<у; 

"ЛуGH89 д6оD" - оFе=864етEO к4GеEт6о 5л47оуEтDо9Eт64 д6оD4 8 уG4Eт8е 68теле9 6 
пDо6еде=88 е7о 5л47оуEтDо9Eт64; 

"ЛуGH89 подJе7д" - оFе=864етEO EоEтоO=8е подJе7д4 <=о7ок64Dт8D=о7о до<4 8 уG4Eт8е 
68теле9 6 Eо7д4=88 ко<DоDт=KE уEло689 пDо6864=8O. 

2.2. � Ко=куDEе <о7ут пD8=8<4тL уG4Eт8е D878GеEк8е л8F4, O6лONI8еEO Gле=4<8 Eо6ето6 
<=о7ок64Dт8D=KE до<о6, то64D8IеEт6 Eо5Eт6е==8ко6 68лLO (=ед6868<оEт8), 68л8I=о-

EтDо8телL=KE коопеD4т86о6, теDD8тоD84лL=KE о5IеEт6е==KE E4<оупD46ле=89, 4 т4к6е 
ND8д8GеEк8е л8F4, оEуIеEт6лONI8е упD46ле=8е <=о7ок64Dт8D=K<8 до<4<8 (д4лее - уG4Eт=8к8 
Ко=куDE4). К уG4Eт8N 6 Ко=куDEе допуEк4NтEO л8F4 =е <оло6е 18 лет. 

2.3. 'G4Eт8е 6 Ко=куDEе =оE8т 74O68телL=K9 E4D4ктеD. Ко=куDE O6лOетEO откDKтK< 8 
пDо6од8тEO 6 Eоот6етEт688 E �оло6е=8е<. 

2.4. Ко=куDE пDо6од8тEO 6 д64 Mт4п4: 

- пеD6K9 Mт4п - пD8е<, D4EE<отDе=8е 8 от5оD 74O6ок длO уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4 - E 
12.09.2024 по 18.10.2024, пD8 Mто< пD8е< 74O6ок оEуIеEт6лOетEO E 12.09.2024 по 11.10.2024, 8E 
D4EE<отDе=8е 8 от5оD длO уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4 - E 12.10.2024 по 18.10.2024; 

- 6тоDо9 Mт4п - D4EE<отDе=8е ото5D4==KE 74O6ок 8 опDеделе=8е по5ед8теле9 - E 19.10.2024 
по 15.11.2024. 

2.5. �D8е< 74O6ок оEуIеEт6лOетEO теDD8тоD84лL=K<8 4д<8=8EтD4F8O<8 <MD88 7оDод4 



/DоEл46лO по <еEту 68телLEт64 (=4Eо6де=8O) уG4Eт=8к4 Ко=куDE4. �4O6к8 Dе78EтD8DуNтEO 6 
�уD=4ле Dе78EтD4F88 74O6ок =4 уG4Eт8е 6 Ко=куDEе (пD8ло6е=8е 1 к �оло6е=8N). 
 

3. &Dе5о64=8я к 74я6ке 
 

3.1. �4O6к4 =4 уG4Eт8е 6 Ко=куDEе оDоD<лOетEO по DоD<е Eо7л4E=о пD8ло6е=8N 2 к 
�оло6е=8N. �4O68телL 6пD46е пDедEт468тL =е 5олее од=о9 74O6к8 по к46до9 87 =о<8=4F89 
Ко=куDE4. 

3.2. �оку<е=тK (<4теD84лK), пD8л474е<Kе к 74O6ке =4 уG4Eт8е 6 Ко=куDEе: 

- MEEе, котоDое оDоD<лOетEO 6 DоD<4те doc, о5Jе<о< - до 10 л8Eто6; 

- <4теD84лK, подт6еD6д4NI8е Dе4л874F8N пDоект4 (пу5л8к4F88, Dото7D4D88 (до 10 Dото), 
68део<4теD84лK). �D8 6о7<о6=оEт8 Dото- 8л8 68део<4теD84лK дол6=K отD464тL пDоFеEE 6 
D4768т88: к4к 5Kло 8 к4к Eт4ло. 

� MEEе 6 о5O74телL=о< поDOдке дол6=K EодеD64тLEO: 

- 8=DоD<4F8O о пDо5ле<4E, DеH4е<KE 74O68теле<; 

- 8=DоD<4F8O о5 8EполL7уе<KE <етод4E D45отK; 

- 8=DоD<4F8O о Dе7улLт4т4E D45отK, пDо6еде==о9 68телO<8 <=о7ок64Dт8D=о7о до<4 
(пDедEт46ле==4O ко=кDет=K<8 F8DD4<8 8 8EG8EлOе<K<8 пок474телO<8). 

�D8 =4л8G88 68део- 8л8 пеG4т=KE <4теD84ло6 6 EDедEт64E <4EEо6о9 8=DоD<4F88, 
поE6OIе==KE D45оте 68теле9 до<4 8л8 о5Jед8=е=8O Eо5Eт6е==8ко6 68лLO, =ео5Eод8<о ук474тL 
MлектDо==Kе EEKлк8 8л8 пDедEт468тL Eк4=K 747ет=KE пу5л8к4F89. !EKлк4 =4 68део дол6=4 5KтL 
D47<еIе=4 =4 о5IедоEтуп=KE о5л4G=KE EеD68E4E. 

К 74O6ке D878GеEко7о л8F4 пD8л474етEO Eо7л4E8е =4 о5D45отку 8 пеDед4Gу пеDEо=4лL=KE 
д4==KE. 

�4 <о<е=т под4G8 74O6к8 оп8EK64е<4O пD4кт8к4 дол6=4 5KтL пол=оEтLN Dе4л87о64=4. 

3.3. �4O6к8 =е пD8=8<4NтEO к D4EE<отDе=8N 6 EледуNI8E EлуG4OE: 

- =еEоот6етEт68е 74O68телO тDе5о64=8O< пу=кт4 2.2 D47дел4 2 �оло6е=8O; 

- пDедEт46ле=8е 74O6к8 E =4DуHе=8е< уEт4=о6ле==о7о EDок4; 

- =еEоот6етEт68е 74O6к8 тDе5о64=8O< пу=кто6 3.1 8 3.2 =4EтоOIе7о D47дел4; 

- пDедEт46ле=8е од=8< пDете=де=то< =4 уG4Eт8е 6 Ко=куDEе 5олее од=о9 74O6к8 по од=о9 
=о<8=4F88; 

- отEутEт68е ук474=8O =о<8=4F88, по котоDо9 пDедEт46ле=4 74O6к4, л85о пDедEт46ле=8е 
74O6к8 по =е уEт4=о6ле==о9 �оло6е=8е< =о<8=4F88; 

- EодеD64=8е 6 74O6ке 8 пD8л474е<KE доку<е=т4E (<4теD84л4E) Dекл4<K. 

3.4. �DедEт46ле==Kе =4 Ко=куDE 74O6к8 =е 6о76D4I4NтEO. 
 

4. КD8теD88 оце=к8 74я6ок 
 

4.1. �лO D4EE<отDе=8O 8 пDо6еде=8O от5оD4 поEтуп86H8E 74O6ок 6 FелOE =4пD46ле=8O 8E длO 



уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4 теDD8тоD84лL=K<8 4д<8=8EтD4F8O<8 <MD88 7оDод4 /DоEл46лO 
Eо7д4NтEO D49о==Kе ко<8EE88, EоEт46K котоDKE ут6еD6д4NтEO D4EпоDO6е=8е< 7л46K 
Eоот6етEт6уNIе9 теDD8тоD84лL=о9 4д<8=8EтD4F88 <MD88 7оDод4 /DоEл46лO. 

�лO D4EE<отDе=8O ото5D4==KE 74O6ок 8 опDеделе=8O по5ед8теле9 Ко=куDE4 Eо7д4етEO 
7оDодEк4O ко<8EE8O, EоEт46 котоDо9 опDеделOетEO <у=8F8п4лL=K< пD46о6K< 4кто< <MD88 7оDод4 
/DоEл46лO. 

ОпDеделе=8е уG4Eт=8ко6 Ко=куDE4, 74O6к8 котоDKE =4пD46лONтEO длO уG4Eт8O 6о 6тоDо< 
Mт4пе Ко=куDE4, 8 по5ед8теле9 Ко=куDE4 оEуIеEт6лOетEO D49о==о9 ко<8EE8е9 8 7оDодEко9 
ко<8EE8е9 (д4лее - Ко<8EE88) 6 к46до9 =о<8=4F88 Eо7л4E=о уEт4=о6ле==K< кD8теD8O<. 

Ко<8EE88 оFе=864Nт 74O6к8 =4 оE=о6е EледуNI8E кD8теD8е6: 

- 4кту4лL=оEтL DеH4е<о9 пDо5ле<K; 

- =о687=4 <етодо6/кDе4т86=K9 подEод к по8Eку DеHе=8O пDо5ле<K; 

- т8D468Dуе<оEтL <етодо6; 

- оE64т уG4Eт=8ко6/5е=еD8F84Dо6 пD8<е=е==о7о DеHе=8O; 

- пD86леGе=8е 6=е5Nд6ет=KE EDедEт6 8/8л8 8EполL7о64=8е тDуд4 до5Dо6олLFе6; 

- уG4Eт8е 68теле9 6 доEт86е=88 Dе7улLт4то6; 

- отEутEт68е ду5л8Dо64=8O пDоекто6 6 од=о9 л85о D47=KE =о<8=4F8OE. 

�у5л8Dо64=8е< пD87=4етEO пол=ое 8л8 G4Eт8G=ое по6тоDе=8е пDоекто6. �у5л8DуNI8<8 
пD87=4NтEO пDоектK (74O6к8), 74Dе78EтD8Dо64==Kе 6 6уD=4ле Dе78EтD4F88 74O6ок по7д=ее 
ду5л8Dуе<о7о, ду5л8DуNI8е пDоектK (74O6к8) =е уG4Eт6уNт 6 D4EE<отDе=88 8 оFе=ке D49о==о9 
ко<8EE8е9. 

4.2. �D8 D4EE<отDе=88 74O6ок Ко<8EE88 6пD46е пDо6еD8тL 8=DоD<4F8N, 87ло6е==уN 6 
<4теD84л4E 74O6к8, =4 пDед<ет доEто6еD=оEт8 87ло6е==KE D4кто6 8 6о7<о6=о7о =4л8G8O 64ло5 6 
оD74=4E 7оEуд4DEт6е==о7о 68л8I=о7о =4д7оD4 8 (8л8) <у=8F8п4лL=о7о 68л8I=о7о ко=тDолO. 

4.3. � EлуG4е пDедEт46ле=8O од=о9 8 то9 6е 74O6к8 ED47у 6 =еEколLк8E =о<8=4F8OE D49о==4O 
ко<8EE8O =е пD8=8<4ет к D4EE<отDе=8N 74O6ку (74O6к8) 6 то9 =о<8=4F88 (теE =о<8=4F8OE), 
кD8теD8O< котоDо9 (котоDKE) о=4 =е Eоот6етEт6ует. 
 

5. �оDядок D45оты Ко<8EE89 
 

5.1.  49о==Kе ко<8EE88 оEуIеEт6лONт D4EE<отDе=8е 8 от5оD поEтуп86H8E 74O6ок длO уG4Eт8O 
6о 6тоDо< Mт4пе Ко=куDE4. 

 49о==4O ко<8EE8O пD46о<оG=4 пD8=8<4тL DеHе=8е, еEл8 =4 74Eед4=88 пD8EутEт6ует =е 
<е=ее 2/3 от ее EоEт464. 

5.2.  49о==о9 ко<8EE8е9 оEуIеEт6лOетEO D4EE<отDе=8е 74O6ок 6 Eоот6етEт688 E 
тDе5о64=8O<8, уEт4=о6ле==K<8 D47дело< 3 �оло6е=8O. 

�D8 отEутEт688 оE=о64=89, ук474==KE 6 пу=кте 3.3 D47дел4 3 �оло6е=8O, 74O6к4 E 
пD8л474е<K<8 доку<е=т4<8 (<4теD84л4<8) подле68т оFе=ке 6 Eоот6етEт688 E пу=кто< 5.3 

=4EтоOIе7о D47дел4 �оло6е=8O. 

�D8 =4л8G88 оE=о64=89, ук474==KE 6 пу=кте 3.3 D47дел4 3 �оло6е=8O, уG4Eт=8ку Ко=куDE4 6 



EDок до 19.10.2024 =4пD46лOетEO у6едо<ле=8е о5 отк47е 6 уG4Eт88 6 Ко=куDEе E ук474=8е< пD8G8= 
отк474 EпоEо5о<, по76олONI8< удоEто6еD8тLEO 6 D4кте полуGе=8O ук474==о7о у6едо<ле=8O. 

5.3. �4O6к8 оFе=864NтEO =4 Eоот6етEт68е кD8теD8O<, ук474==K< 6 пу=кте 4.1 D47дел4 4 

�оло6е=8O, к46дK< Gле=о< D49о==о9 ко<8EE88 по 54лл4< (<4кE8<4лL=ое кол8GеEт6о 54лло6 по 
к46до<у кD8теD8N D46=о 5), котоDKе 6=оEOтEO 6 оFе=оG=K9 л8Eт уG4Eт=8к4 Ко=куDE4 (пD8ло6е=8е 
3 к �оло6е=8N). 

�то7о64O оFе=к4 D4EEG8тK64етEO к4к Eу<<4 54лло6, пD8Eу6де==KE 74O6ке 6Eе<8 Gле=4<8 
D49о==о9 ко<8EE88. 

 е9т8=7 уG4Eт=8ко6 Ко=куDE4 по 8то74< пDо6еде=8O оFе=к8 74O6ок 6 Eоот6етEт688 E 
=45D4==K<8 о5I8<8 54лл4<8 EоEт46лOетEO путе< 74пол=е=8O E6од=о9 оFе=к8 74O6ок по DоD<е 
Eо7л4E=о пD8ло6е=8N 4 к �оло6е=8N, котоD4O ут6еD6д4етEO =4 74Eед4=88 D49о==о9 ко<8EE88. 

�D8 D46=о< кол8GеEт6е 54лло6 DеHе=8е о пD8E6ое=88 74O6ке 5олее 6KEоко7о Dе9т8=7о6о7о 
=о<еD4 пD8=8<4етEO Gле=4<8 D49о==о9 ко<8EE88 путе< 7олоEо64=8O пDоEтK< 5олLH8=Eт6о< 
7олоEо6, пD8 D46е=Eт6е 7олоEо6 7олоE пDедEед4телLEт6уNIе7о =4 74Eед4=88 D49о==о9 ко<8EE88 
O6лOетEO DеH4NI8<. 

5.4. �о Dе7улLт4т4< пDо6еде=8O оFе=к8 74O6ок D49о==4O ко<8EE8O 6пD46е опDедел8тL длO 
уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4 =е 5олее тDеE 74O6ок по к46до9 =о<8=4F88, котоDK< пD8E6ое=о 
=485олLHее кол8GеEт6о 54лло6. 

 еHе=8е D49о==о9 ко<8EE88 6 теGе=8е 2 D45оG8E д=е9 Eо д=O 74Eед4=8O оDоD<лOетEO 
пDотоколо<, котоDK9 подп8EK64етEO пDедEед4телLEт6уNI8< =4 74Eед4=88 D49о==о9 ко<8EE88 8 
EекDет4Dе< D49о==о9 ко<8EE88. 

�Dотокол E пD8ло6е=8е< 74O6ок уG4Eт=8ко6 Ко=куDE4, ото5D4==KE длO уG4Eт8O 6о 6тоDо< 
Mт4пе Ко=куDE4, 6 теGе=8е 1 D45оGе7о д=O Eо д=O е7о оDоD<ле=8O =4пD46лOетEO D49о==о9 
ко<8EE8е9 6 деп4Dт4<е=т. 

�еп4Dт4<е=т 6 теGе=8е 2 D45оG8E д=е9 Eо д=O полуGе=8O доку<е=то6, ук474==KE 6 4574Fе 
тDетLе< =4EтоOIе7о пу=кт4, оD74=87ует =4пD46ле=8е 74O6ок уG4Eт=8ко6 Ко=куDE4, ото5D4==KE длO 
уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4, 6 7оDодEкуN ко<8EE8N. 

5.5. �оDодEк4O ко<8EE8O оEуIеEт6лOет оFе=ку 74O6ок, =4пD46ле==KE длO уG4Eт8O 6о 6тоDо< 
Mт4пе Ко=куDE4, 8 опDеделOет по5ед8теле9 Ко=куDE4 6 пDедел4E EDок4 6тоDо7о Mт4п4 Ко=куDE4, 
уEт4=о6ле==о7о пу=кто< 2.4 D47дел4 2 �оло6е=8O. 

�оDодEк4O ко<8EE8O пD46о<оG=4 пD8=8<4тL DеHе=8е, еEл8 =4 74Eед4=88 пD8EутEт6ует =е 
<е=ее 2/3 от ее EоEт464. 

5.6. �Dо6еде=8е оFе=к8 74O6ок, =4пD46ле==KE длO уG4Eт8O 6о 6тоDо< Mт4пе Ко=куDE4, 
оEуIеEт6лOетEO 7оDодEко9 ко<8EE8е9 6 поDOдке, опDеделе==о< пу=кто< 5.3 =4EтоOIе7о D47дел4 
�оло6е=8O. 

5.7. � к46до9 =о<8=4F88 Ко=куDE4 7оDодEк4O ко<8EE8O опDеделOет по5ед8теле9 Ко=куDE4, 
котоDK< пD8Eу6д4NтEO I, II, III <еEт4 Eо7л4E=о Dе9т8=7у E6од=о9 оFе=к8 74O6ок, ут6еD6де==о9 =4 
74Eед4=88 7оDодEко9 ко<8EE88, по <еDе у5K64=8O 8то7о6KE оFе=ок пDедEт46ле==KE 6 =о<8=4F88 
74O6ок. 
 

6. �од6еде=8е 8то7о6 8 =47D46де=8е по5ед8теле9 
 

6.1. �то78 Ко=куDE4 оDоD<лONтEO пDотоколо< 6 теGе=8е 3 D45оG8E д=е9 Eо д=O 74Eед4=8O 
7оDодEко9 ко<8EE88, котоDK9 подп8EK64етEO пDедEед4телLEт6уNI8< =4 74Eед4=88 7оDодEко9 



ко<8EE88 8 EекDет4Dе< 7оDодEко9 ко<8EE88. 

6.2.  е7улLт4тK Ко=куDE4 пу5л8куNтEO 6 EDедEт64E <4EEо6о9 8=DоD<4F88 8 D47<еI4NтEO =4 
оD8F84лL=о< поDт4ле 7оDод4 /DоEл46лO 6 8=DоD<4F8о==о-телеко<<у=8к4F8о==о9 Eет8 
"�=теD=ет" 6 теGе=8е 10 д=е9 поEле под6еде=8O 8то7о6 Ко=куDE4. 

6.3. �о5ед8телO< Ко=куDE4, 74=O6H8< I, II, III <еEто 6 к46до9 =о<8=4F88, 6DуG4NтEO пD87K 6 
68де EеDт8D8к4то6 =4 пD8о5Dете=8е 8<уIеEт64 длO о5Iедо<о6KE =у6д 68теле9 
<=о7ок64Dт8D=о7о до<4 Eто8<оEтLN: 

- 74 пеD6ое <еEто 6 к46до9 =о<8=4F88 - 100000 Dу5ле9; 

- 74 6тоDое <еEто 6 к46до9 =о<8=4F88 - 60000 Dу5ле9; 

- 74 тDетLе <еEто 6 к46до9 =о<8=4F88 - 40000 Dу5ле9. 

6.4. Ф8=4=E8Dо64=8е Ко=куDE4 оEуIеEт6лOетEO 74 EGет EDедEт6, пDедуE<отDе==KE 6 5Nд6ете 
7оDод4 /DоEл46лO по 7л46=о<у D4EпоDOд8телN 5Nд6ет=KE EDедEт6 "�еп4Dт4<е=т 7оDодEко7о 
Eо7O9Eт64 <MD88 7оDод4 /DоEл46лO". 

6.5. �Eе< уG4Eт=8к4< Ко=куDE4 6DуG4NтEO д8пло<K. 

6.6. �47D46де=8е по5ед8теле9 E 6DуGе=8е< д8пло<о6 8 пD87о6 оEуIеEт6лOетEO =е по7д=ее 
25.12.2024. 

 

 

 

 

 

�D8ло6е=8е 1 

к �оло6е=8N 

 

�' ��Л 

Dе78EтD4F88 74O6ок =4 уG4Eт8е 6 ко=куDEе 

"�<еEте Eдел4е< луGHе" 
 

�о<еD 
74O6к8 

�6тоD 74O6к8 (D4<8л8O, 8<O, отGеEт6о - длO 
D878GеEк8E л8F <*>, =48<е=о64=8е 
оD74=874F88 - длO ND8д8GеEк8E л8F) 

�4т4 
поEтупле=8O 

74O6к8 

�дDеE до<4 
(о5Jект4) 

�о<8=4F8O "!4<K9 дDу6=K9 до<" 

101    

102    

....    

�о<8=4F8O "ЛуGH89 д6оD" 

201    

202    

....    



�о<8=4F8O "ЛуGH89 подJе7д" 

301    

302    

....    

 

-------------------------------- 

<*> �D8 уEло688 под4G8 74O6к8 от 7DуппK 46тоDо6 - D878GеEк8E л8F о5O74телL=о 
пDедEт46ле=8е E6еде=89 по Dуко6од8телN 7DуппK 46тоDо6. 
 

 

 

 

 

�D8ло6е=8е 2 

к �оло6е=8N 

 
                                   �А/��А 
                =0 CG0AB85 2 :>=:C@A5 "�<5AB5 A45;05< ;CGH5" 
 

    �@>HC  2:;NG8BL  2  G8A;>  CG0AB=8:>2 :>=:C@A0 "�<5AB5 A45;05< ;CGH5" 2 
=><8=0F88 _________________________________________________________________ 
                                (C:070BL =><8=0F8N) 
__________________________________________________________________________. 
                     (C:070BL 04@5A >1J5:B0 ?>;=>ABLN) 
    �0B0 22>40 >1J5:B0 2 M:A?;C0B0F8N ____________________________________. 
 

    1. �@0B:0O E0@0:B5@8AB8:0 >1J5:B0: 
___________________________________________________________________________ 

___________________________________________________________________________ 
___________________________________________________________________________ 

___________________________________________________________________________ 
___________________________________________________________________________ 

___________________________________________________________________________ 
___________________________________________________________________________ 

___________________________________________________________________________ 
___________________________________________________________________________ 
___________________________________________________________________________ 

__________________________________________________________________________. 
    2. �0==K5 CG0AB=8:0 :>=:C@A0 __________________________________________ 
__________________________________________________________________________. 
     (Ф.�.�. 4;O D878G5A:>3> ;8F0, =08<5=>20=85 4;O N@848G5A:>3> ;8F0, 
              B5;5D>=, 04@5A M;5:B@>==>9 ?>GBK (?@8 =0;8G88), 
                 04@5A <5AB0 68B5;LAB20 (<5AB0 =0E>645=8O)) 
    3. �@8;>65=85:  MAA5,  <0B5@80;K,  ?>4B25@640NI85  @50;870F8N  ?@>5:B0, 
A>3;0A85  =0  >1@01>B:C  8  ?5@540GC  ?5@A>=0;L=KE  40==KE (4;O D878G5A:>3> 
;8F0). 
 

____________________________                     "___" ____________ 2024 3. 
(?>4?8AL CG0AB=8:0 �>=:C@A0) 
 

 

 

 

 

�D8ло6е=8е 



к 74O6ке 

=4 уG4Eт8е 6 ко=куDEе 

"�<еEте Eдел4е< луGHе" 
 
                                  %���А%�� 
                =0 >1@01>B:C 8 ?5@540GC ?5@A>=0;L=KE 40==KE 
 
    /, ____________________________________________________________________ 
__________________________________________________________________________, 
             (D0<8;8O, 8<O, >BG5AB2> (?>A;54=55 - ?@8 =0;8G88) 
?@>6820NI89 (?@>6820NI0O) ?> 04@5AC: ______________________________________ 
                                              (<5AB> @538AB@0F88 
                                              ?> <5ABC 68B5;LAB20) 
__________________________________________________________________________, 
?0A?>@B ___________________________________________________________________ 
                  (A5@8O, =><5@)              (40B0 2K40G8) 
2K40= ____________________________________________________________________, 
                                     (:5<) 
2  A>>B25BAB288  A  B@51>20=8O<8 AB0BL8 9 Ф545@0;L=>3> 70:>=0 >B 27.07.2006 
N  152-Ф�  "�  ?5@A>=0;L=KE 40==KE" ?>4B25@640N A2>5 A>3;0A85 =0 >1@01>B:C, 
8A?>;L7>20=85   8  ?5@540GC  @09>==>9  :><8AA88  8  3>@>4A:>9  :><8AA88  ?> 
>?@545;5=8N  ?>1548B5;59 :>=:C@A0 "�<5AB5 A45;05< ;CGH5" (40;55 - �><8AA88) 
<>8E   ?5@A>=0;L=KE  40==KE,  2:;NG0NI8E:  D0<8;8N,  8<O,  >BG5AB2>,  04@5A 
@538AB@0F88   ?>   <5ABC   68B5;LAB20,  40==K5  4>:C<5=B0,  C4>AB>25@ONI53> 
;8G=>ABL. 

�DедоEт46лON Ко<8EE8O< пD46о оEуIеEт6лOтL 6Eе де9Eт68O (опеD4F88) E <о8<8 
пеDEо=4лL=K<8 д4==K<8, 6клNG4O E5оD, 74п8EL, E8Eте<4т874F8N, =4копле=8е, ED4=е=8е, 
утоG=е=8е (о5=о6ле=8е, 87<е=е=8е), 876леGе=8е, 8EполL7о64=8е, пеDед4Gу (D4EпDоEтD4=е=8е, 
пDедоEт46ле=8е, доEтуп), о5е7л8G864=8е, 5лок8Dо64=8е, уд4ле=8е, у=8Gто6е=8е пеDEо=4лL=KE 
д4==KE. 

Ко<8EE88 6 FелOE оFе=к8 74O6к8 =4 уG4Eт8е 6 ко=куDEе 8<еNт пD46о =4 о5<е= (пD8е< 8 
пеDед4Gу) <о8<8 пеDEо=4лL=K<8 д4==K<8 <е6ду EтDуктуD=K<8 подD47деле=8O<8 <MD88 7оDод4 
/DоEл46лO, 74де9Eт6о64==K<8 6 пDо6еде=88 ко=куDE4 "�<еEте Eдел4е< луGHе". 

!Dок, 6 теGе=8е котоDо7о де9Eт6ует =4EтоOIее Eо7л4E8е - од8= 7од Eо д=O е7о пDедоEт46ле=8O. 
!о7л4E8е <о6ет 5KтL ото764=о <=о9 поEDедEт6о< EоEт46ле=8O Eоот6етEт6уNIе7о п8EL<е==о7о 
доку<е=т4, котоDK9 <о6ет 5KтL =4пD46ле= 6 4дDеE Ко<8EE88 по поGте 74к47=K< п8EL<о< E 
у6едо<ле=8е< о 6DуGе=88. 

�одт6еD6д4N, Gто о7=4ко<ле= (о7=4ко<ле=4) E поло6е=8O<8 ФедеD4лL=о7о 74ко=4 от 
27.07.2006 N 152-Ф� "О пеDEо=4лL=KE д4==KE", <=е D47JOE=е=K <о8 пD464 8 о5O74==оEт8, 
E6O74==Kе E о5D45отко9 8 пеDед4Gе9 пеDEо=4лL=KE д4==KE, 6 то< G8Eле <оO о5O74==оEтL 
8=DоD<8Dо64=8O о5 87<е=е=88 <о8E пеDEо=4лL=KE д4==KE. 
 
"___" ___________ 20___ 3. 
 
___________________   _____________________________________________ 

     (?>4?8AL)                    (@0AH8D@>2:0 ?>4?8A8) 
 

 

 

 

 

�D8ло6е=8е 3 

к �оло6е=8N 

 
                               �&���'�Ы� ��%& 
                             CG0AB=8:0 :>=:C@A0 
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�><8=0F8O :>=:C@A0 ________________________________________________________ 
�><5@ 70O2:8 ?@5B5=45=B0 =0 CG0AB85 2 :>=:C@A5 ____________________________ 
�8B5@ <*> _________ 
А4@5A: ____________________________________________________________________ 
 

N 

п/п 

�48<е=о64=8е кD8теD8O �4ллK (1 - 5) 

1 �кту4лL=оEтL DеH4е<о9 пDо5ле<K  

2 �о687=4 <етодо6/кDе4т86=K9 подEод к по8Eку DеHе=8O пDо5ле<K  

3 &8D468Dуе<оEтL <етодо6  

4 ОE64т уG4Eт=8ко6/5е=еD8F84Dо6 пD8<е=е==о7о DеHе=8O  

5 �D86леGе=8е 6=е5Nд6ет=KE EDедEт6 8/8л8 8EполL7о64=8е тDуд4 
до5Dо6олLFе6 

 

6 'G4Eт8е 68теле9 6 доEт86е=88 Dе7улLт4то6  

7 ОтEутEт68е ду5л8Dо64=8O пDоекто6 6 од=о9 л85о D47=KE 
=о<8=4F8OE 

 

!у<<4 54лло6 по 6Eе< кD8теD8O<  

 

-------------------------------- 

<*> Л8теD: 

�7еD68=Eк89 D49о= - �; 

�46ол6Eк89 D49о= - �; 

К8Dо6Eк89 D49о= - К; 

КD4E=опеDекопEк89 D49о= - К�; 

Ле=8=Eк89 D49о= - Л; 

ФDу=7е=Eк89 D49о= - Ф. 
 
________________________   ________________________________________________ 
(?>4?8AL G;5=0 :><8AA88)                (@0AH8D@>2:0 ?>4?8A8) 
 

 

 

 

 

�D8ло6е=8е 4 

к �оло6е=8N 

 

!�О���/ ОЦ��К� 

74O6ок уG4Eт=8ко6 ко=куDE4 

 



�о<еD 
74O6к8/л8теD 

<*> 

�6тоD пDоект4 (D4<8л8O, 8<O, 
отGеEт6о - длO D878GеEк8E л8F, 

=48<е=о64=8е оD74=874F88 - длO 
ND8д8GеEк8E л8F) 

О5Iее 
кол8GеEт6о 
54лло6 

�то7о64O 
(EDед=OO) 
оFе=к4 

�еEто 

�о<8=4F8O "!4<K9 дDу6=K9 до<"  

101/     

102/     

....     

�о5ед8телL 6 =о<8=4F88, I <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, II <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, III <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о<8=4F8O "ЛуGH89 д6оD"  

201/     

202/     

....     

�о5ед8телL 6 =о<8=4F88, I <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, II <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, III <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о<8=4F8O "ЛуGH89 подJе7д"  

301/     

302/     

....     

�о5ед8телL 6 =о<8=4F88, I <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, II <еEто - 74O6к4 N ____/____ (л8теD) <*> 

�о5ед8телL 6 =о<8=4F88, III <еEто - 74O6к4 N ____/____ (л8теD) <*> 

 

-------------------------------- 

<*> Л8теD: 

�7еD68=Eк89 D49о= - �; 

�46ол6Eк89 D49о= - �; 

К8Dо6Eк89 D49о= - К; 

КD4E=опеDекопEк89 D49о= - К�; 



Ле=8=Eк89 D49о= - Л; 

ФDу=7е=Eк89 D49о= - Ф. 
 
__________________________________________   ______________________________ 
(?>4?8AL ?@54A540B5;O :>=:C@A=>9 :><8AA88)        (@0AH8D@>2:0 ?>4?8A8) 
 

 

 

 

 

�D8ло6е=8е 2 

к поEт4=о6ле=8N 

<MD88 7оDод4 /DоEл46лO 

от 11.09.2024 N 815 

 

!О!&�� 
�О О�!КО� КО��!!�� �О О� ���Л���. �О����&�Л�� 

КО�К' !� "���!&� !��Л��� Л''(�" 
 

!теп4=о6 �.�. - 74<еEт8телL <MD4 7оDод4 /DоEл46лO по 6опDоE4< 68л8I=о-ко<<у=4лL=о7о 
Eо7O9Eт64 8 5л47оуEтDо9Eт64, пDедEед4телL ко<8EE88; 

О6G4Dо6 /.�. - д8DектоD деп4Dт4<е=т4 7оDодEко7о Eо7O9Eт64 <MD88 7оDод4 /DоEл46лO, 
74<еEт8телL пDедEед4телO ко<8EE88; 

�KдD8= �.�. - 74<еEт8телL =4G4лL=8к4 упD46ле=8O - =4G4лL=8к отдел4 оD74=874F88 
упD46ле=8O 68л8I=K< Dо=до< деп4Dт4<е=т4 7оDодEко7о Eо7O9Eт64 <MD88 7оDод4 /DоEл46лO, 
EекDет4DL ко<8EE88. 

'ле=K ко<8EE88: 

�4EDо<ее64 �... - пDедEед4телL /DоEл46Eко7о 7оDодEко7о о5IеEт6е==о7о д686е=8O 
"/DоEл46лL-2000" (по Eо7л4Eо64=8N); 

�46D8ло6 �.�. - 74<еEт8телL <MD4 7оDод4 /DоEл46лO по 6748<оде9Eт68N E о5IеEт6е==оEтLN, 
<е6ду=4Dод=K< E6O7O< 8 о5еEпеGе=8N деOтелL=оEт8 <MD88; 

�DHо6 �.Ф. - пDедEед4телL �EEоF84F88 D4768т8O 8 поддеD6к8 о5IеEт6е==о7о 
E4<оупD46ле=8O 7оDод4 /DоEл46лO (по Eо7л4Eо64=8N); 

К4л8=8= !.�. - пDедEед4телL <у=8F8п4л8тет4 7оDод4 /DоEл46лO (по Eо7л4Eо64=8N); 

�4лNт8= �.�. - 74<еEт8телL пDедEед4телO <у=8F8п4л8тет4 7оDод4 /DоEл46лO (по 
Eо7л4Eо64=8N); 

�е=8л8= О.�. - 74<еEт8телL пDедEед4телO <у=8F8п4л8тет4 7оDод4 /DоEл46лO (по 
Eо7л4Eо64=8N); 

(ет=е64 �.�. - пеD6K9 74<еEт8телL д8DектоD4 деп4Dт4<е=т4 7оDодEко7о Eо7O9Eт64 <MD88 
7оDод4 /DоEл46лO. 
 

 
 

 


